
Word Problems MultiplicationAt the Stationery Shop

Ms. Jane bought 30 pencils for her class. 
What is the total cost of 30 pencils?

She also bought 17 pairs of scissors. What is 
the total cost of the scissors?

She then bought 13 boxes of crayons. What 
is the total cost for 13 boxes of crayons?

Finally, she bought 42 paper clips. What is  
the total cost for 42 paper clips?

Summer is over and school starts next week. Ms. Jane has gone to the stationery shop to 
buy school supplies for her class. Can you help her find out how much she has to pay?
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